G2(4) (mod 7)
blocks | defect matrix blocks | defect matrix
G 1 1 7x6 19 0 40954 = X27,¥26
2 1 5x%x3 20 0 47251 = X30, Y27
3 0 3501 = X6, ¥6 21 0 47259 = X31, P28
4 0 3641 = x7, @7 22 0 54601 = 32, P29
5 0 3642 = Xxs, ¥s
6 0 3781 = X9, Y9 2.G: 23 1 5x3
7 0 8191 = x11, Y11 24 1 7x6
8 0 8192 = x12, P12 25 0 3643 = Xx36, ®33
9 0 8193 = X13, P13 26 0 5601 = x37, ©34
10 0 8194 = X14, P14 27 0 12601 = X35, P35
11 0 13651 = x16, Y16 28 0 18201 = x41, P38
12 0 32761 = X20, ©19 29 0 18202 = X42, P39
13 0 32765 = X215 P20 30 0 20161 = xa43, ¥40
14 0 32763 = X22, P21 31 0 21841 = X44, Pa3
15 0 32764 = X235 P22 32 0 21845 = X455, P44
16 0 40951 = Y24, P23 33 0 32765 = Xa6, P45
17 0 40955 = Y25, V24 34 0 58241 = X53, P48
18 0 40953 = X265, P25 35 0 58245 = X545 P49
Block 1: | o1 @3 @1 @5 $10 17
Li=x1] 1 . o= h
781 = X3 . 1 . b3 = 781
3000 =ya| . . 1 . pa = 300,
3005 = 5 | . 1 ps = 300
6501 = X10 1 . 1 . 10 = 6491
29253 = x19 | . . . 1 w17 = 2847
40961 = X28 . . 1 1 1 1
Block 2: | v2 15 18
651 =x2 | 1 . w2 = 651
13000 = x15 | 1 1 . p15 = 1235
2925, = X17 1 w18 = 2925
29252 = X18 . 1
41601 = X29 1 1




BlOCk 23: ©30 Y46 Va7
121 = x33 1
: : ) = 12
3600, = xar | . 1 . o = 3600
39001 =xs0 | 1 . 1 o = 3888
39002 = xs1 1 . 1 ’ !
TA88; =xs5 | . 11
Block 24: ©31 P32 P36 P37 P41 P42
1041 = x34 1 . . . . ) p31 = 104
11042 = X35 . 1 . ) . . w32 = 1045
18001 = X39 o1 | , . w36 = 1696,
8002 = x40 1 o1 ) . . w37 = 16962
37441 = xu8 . . 1 . 1 ] pnn = 2048
37445 = X49 . . . 1 . paa = 20484
40962 = Xx52 . . . . 1 1




